Ldse die folgenden kubischen Gleichungen A% b2 + cx = 0

35x3 + 17.5x%- 49x = 0
Xx1=0, x2=-7, x3=2

10x3 + 50x2 - 140x = 0
X1=0, X2=-7, X3=2

-45x3 + 495x% - 81x = 0
Xx1=0, x2=2, x3=9

85x3-425x2+119x = 0
X1=0, X2=-7, X3=2

8.5x3 - 8.5x% - 102x = 0
X1=0, x2=-3, x3=4

6x3 - 30x% + 36x = 0
Xx1=0, x2=2, x3=3

-8x3-128x%-504x = 0
Xx1=0, x2=-9, x3=-7

6x° - 90x2 + 300x = 0
X1=0, x2=5, x3=10

6X° - 6x2 - 540X = 0
Xx1=0, x2=-9, x3=10

9.5x3 - 47.5x% - 342x = 0
X1=0, x2=-4, x3=9

1.5x3 + 16.5x% + 27x = 0
Xx1=0, x2=-9, x3=-2

3.5x3-7x2:0
Xx1=0, x2=0, x3=2

9.5x3 + 47.5x% - 133x = 0
Xx1=0, x2=-7, x3=2

x3=0
Xx1=0, x2=0, x3=0

6X° - B0X2 + 96X = 0
Xx1=0, x2=2, x3=8

10x° + 150x2 + 500% = 0
Xx1=0, x2=-10, x3=-5

4x3 + 8x%- 320x = 0
Xx1=0, x2=-10, x3=8

-8x3 + 144x2 - 648x = 0
Xx1=0, x2=9, x3=9

5.5x3 - 27.5x% + 22x = 0
Xx1=0, x2=1, x3=4

6x° +18x%=0
X1=0, x2=-3, x3=0



